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Code: 100305 

Instructions: 
() The marks are indicated in the right-hand margin. 
(i) There are NINE questions in this paper. 

(ii) Atemp1 FIVE questions in all. 

Q.1 

(i) Question No. l is compulsory. 

(a) 
Choose tlhe correct option of the following:(Answer any seven) 

(b) 

(c) 

(d) 

(e) 

() 

(g) 
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() 

Dynamic RAM employs 
() Capacitor or MOSFET 
(ii) Capacitor or BJT 

()TV 

(i) Multiplexing 
(ii) Decoding 

The resolution of a 10-bit AD converter for an input range of 10V is approximately 
(ii) l mV 

(iii) Boolen algebra 

(h) Sequential circuit contains; 

(iü) FET or JFET 

The parameter through which 16 distinct values can be represented is known as 

()) bit (ii) byte (iii) word (iv) nibble 

If we record any music in any recorder. such type of process is called 

(iv) BJT or MOS 

(i) No memory element 

(ii) 10 mV 

The systematic reduction of logic circuits is accomplished by 
() Symbolic reduction 

i) At least one memory element 

�() Flash ADC 

(i) Encoding 
(iv) Demultiplexing 

(iii) Dual slope ADC 

Tine: 03 Hours 

In which of the following base system, 123 is not a valid number? 
(i) BASE 10 (ii) BASE 16 (iii) BASE 8 (iy) BASE 3 

Full Murks: 70 

(ii) TTL logic 
(iv) Truth table 

A hexadecimal odometer displays F52F. The next reading will be 
(i) F52E (ii) G52F (iii) FS2F (iv) FS30 

(iv) 100 mV 

How many entries will be in the truth table of a 4-input NAND gate. 
()6 (ii) 8 (ii) 32 (iy) 16 

(i) All input applied simultaneously 
(iv) None 

Which ADC architecture is based on the principle of integrating an unknown input 
voltage over a fixed period of time? 
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|2 x 7= 14| 

(ii) Successive Approximation ADC 
(iv) Sigma-Delta ADC 

P.T. 



(a) 

(b) 

(b) 

04 (a) 

(b) 

(b) 

0.6 (a) 
(b) 

(b) 

0.3 (a) Design a BCD to 7-segmcnt display decoder circuit using logic gates, 

Or (a) 
(b) 

cach with examples. 

What are weighted, non-weighted. cyclic and self-complementary codes? xplain 

Find the values of X in the following conversions: 

) 

() 
(ii) 

(ii) 

Design tull adder using the following: 

() 

() 

() 

Dcfine resolution, lincarity. accuracy and settling time of D'A Converters 

Ispical D'A conerter has a fll-scale analog output of 10v and acccpts 6 binary 

bits as input. What will bc the voltage corresponding to cach analog step 

Design a 3-bit parallel conparator AD connertor that provides output in 2' 

(95 10)o to (X) 

complemcnt fonat. 

(45 -70), to (X) 
|6816), lo (X)e 

ldentifs the following logic functions mplemented at E 

() 

() 

Implement the follow ing CMOS logics: 

() 

8:l muN 

What is binary shift register? Write down their application. 
Describe about Jhonson ring counter using four D-flip-tlop. 

Minimize the follow ing expression using k-Map 
fP.Q. R. S) -Em(0, I4,5,7, 1 2, 13) 

AB(A + B) 

Draw ssnbol and write the truth table of JK Mlip lop. 

((CD) + B)A 

Dscribe the procedure to design Mod-6 counter. 

RAMM 

Explan SlPO and SIS0 operations of shift register with eleant logis diagram 
and truth tablc,. 

09 Write slrt hotcs of the following 

ROM 

CMOS ogrc 
Operation of TlL logic circuit orking as N \NDGat 

EE 
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